Date: Monday 1%" February 2021

Learning Objective:

To count money in pence.

Problem Solve:
5.
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Parfeat
== Practise:

1.

Count the money.

2.

Use <, > or = to compare the money.
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Jack selects four of these coins

He can use the coins more than once

What total could he make?
What is the lowest total?

What is the greatest total?
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How much could Tom's sandwich have cost?
he cale. | paid with three |
f1 coins and

Expiain your reason
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Find al the possibiltes

3.
Count the money.
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Draw coins to make the statements
correct.
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